

Pricing Proposal Quotation #: 20978046 Created On: Sep-09-2021

Valid Until: Oct-09-2021

City of Port Saint Lucie

Inside Account Manager

Charles Mccaskill

121 SW Port St Lucie Blvd PORT SAINT LUCI, FL 34984

United States Phone:

Fax:

Email: Charles.Mccaskill@cityofpsl.com

Bret Santucci

290 Davidson Avenue Somerset, NJ 08873 Phone: 800-543-0432 Fax: 732-868-6055

Email: Bret_Santucci@shi.com

All Prices are in US Dollar (USD)

Product	Qty	Your Price	Total
M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr Microsoft - Part#: AAD-34704	877	\$353.40	\$309,931.80
Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
Services			
Contract #: 43230000-15-02			
Coverage Term: Dec-01-2021 - Nov-30-2022			
Note: Annual Payment 3 of 3			
CISSteDCCore ALNG SA MVL 2Lic CoreLic	64	\$163.60	\$10,470.40
Microsoft - Part#: 9GS-00135			
Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
Services			
Contract #: 43230000-15-02			
Coverage Term: Dec-01-2021 - Nov-30-2022			
Note: Annual Payment 3 of 3			
SQLSvrEntCore ALNG SA MVL 2Lic CoreLic	2	\$2,206.96	\$4,413.92
Microsoft - Part#: 7JQ-00343			
Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
Services			
Contract #: 43230000-15-02			
Coverage Term: Dec-01-2021 – Nov-30-2022			
Note: Annual Payment 3 of 3			
SQLSvrStdCore ALNG SA MVL 2Lic CoreLic	14	\$575.87	\$8,062.18
Microsoft - Part#: 7NQ-00292		•	***************************************
Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
Services			
Contract #: 43230000-15-02			
Coverage Term: Dec-01-2021 - Nov-30-2022			
Note: Annual Payment 3 of 3			
VisioStd ALNG SA MVL	3	\$50.72	\$152.16
Microsoft - Part#: D86-01253	•	Ţ <u>-</u>	Ţ

Microsoft - Part#: D86-01253

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

Prjct Std ALNG SA Microsoft - Part#:	076-01912	4	\$115.34	\$461.36
	icensing Solutions Providers (LSP) of Microsoft Software and			
Services				
Contract #: 4323				
	Dec-01-2021 – Nov-30-2022			
Note: Annual Pag	yment 3 or 3			
VSEntSubMSDN A		3	\$1,052.77	\$3,158.31
Microsoft - Part#:				
Contract Name: I	icensing Solutions Providers (LSP) of Microsoft Software and			
Services				
Contract #: 43230				
	Dec-01-2021 - Nov-30-2022			
Note: Annual Pag	/ment 3 of 3			
VSProSubMSDN A	LNG SA MVL	7	\$301.84	\$2,112.88
Microsoft - Part#:	77D-00111	W.	400	V-10.
Contract Name: I	icensing Solutions Providers (LSP) of Microsoft Software and			
Services	(,			
Contract #: 43230	0000-15-02			
	Dec-01-2021 - Nov-30-2022			
Note: Annual Pay				
	CAL ALNG SA MVL UsrCAL	150	\$21.27	\$3,190.5
Microsoft - Part#:				
	icensing Solutions Providers (LSP) of Microsoft Software and			
Services				
Contract #: 43230				
	Dec-01-2021 - Nov-30-2022			
Note: Annual Pag	ment 3 of 3			
WinSvrDCCore AL	NG SA MVL 2Lic CoreLic	16	\$124.34	\$1,989.44
Microsoft - Part#:	9EA-00278		•	•
Contract Name: I	icensing Solutions Providers (LSP) of Microsoft Software and			
Services	(, ,			
Contract #: 43230	0000-15-02			
Coverage Term:	Dec-01-2021 - Nov-30-2022			
Note: Annual Pay				
	LNG SA MVL 2Lic CoreLic	56	\$18.00	\$1,008.00
Microsoft - Part#:				
	icensing Solutions Providers (LSP) of Microsoft Software and			
Services				
Contract #: 43230				
	Dec-01-2021 - Nov-30-2022			
Note: Annual Pag	ment 3 of 3			
PwrBIProGCC Shro	Svr ALNG SubsVL MVL PerUsr	2	\$92,28	\$184.56
Microsoft - Part#:		459	+	Ţ. Z
	icensing Solutions Providers (LSP) of Microsoft Software and			
Services	()			
Contract #: 43230	0000-15-02			
Coverage Term:	Dec-01-2021 - Nov-30-2022			
Note: Annual Pag				
VisioOnInP2CCC S	hrdSvr ALNG SubsVL MVL PerUsr	17	\$138.36	\$2,352.12
Microsoft - Part#:		14	φ130.3 0	φ2,332.1
IVIICIUSUIL - FAILH.	icensing Solutions Providers (LSP) of Microsoft Software and			
Contract Name: I				
	decising colutions i roviders (cor) or whereast contware and			
Services				
Services Contract #: 43236				

14 \	/isioOnInP2GCCFromSA ShrdSvr ALNG SubsVL MVL PerUsr Microsoft - Part#: 9K4-00003	11	\$117.84	\$1,296.24
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
•	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
5 (D365XtraFileStrgGCC ShrdSvr ALNG SubsVL MVL AddOn XtraStrg1GB Microsoft - Part#: M9T-00002	4000	\$3.00	\$12,000.00
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
5	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
, A	AzureprepaymentG ShrdSvr ALNG SubsVL MVL Commit Provision Microsoft - Part#: J5U-00004	1	\$0.00	\$0.00
	Contract Name: NASPO Cloud Solutions Contract #: AR2488			
	Subcontract #: 43230000-NASPO-16-ACS			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
-	BztłkSvrStd ALNG SA MVL 2Lic CoreLic	4	\$813.91	\$3,255.64
	Microsoft - Part#: D75-01981		ψ015.31	Ψ0,200.01
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
	Services			
•	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
· ·	M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr	50	\$353.40	\$17,670.00
) i	Microsoft - Part#: AAD-34704	50	Ф 333.40	\$17,070.00
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
•	Services			
`	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
8			242.24	
1	AudioConfGCC ShrdSvr ALNG SubsVL MVL PerUsr Microsoft - Part#: LK3-00001	100	\$42.24	\$4,224.00
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
9	Services			
•	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
	Teoto. / Timuar i ayrilonico or o			
) 5	ShrPntOnInP1GCC ShrdSvr ALNG SubsVL MVL PerUsr	300	\$46.08	\$13,824.00
	Microsoft - Part#: 3QS-00001			
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
,	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 - Nov-30-2022			
	Note: Annual Payment 3 of 3			
	Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV -	2	\$137.88	\$275.76
	EA Subscription, Government Community Cloud - All Languages			
	Microsoft - Part#: P3U-00001			
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

22 Project Plan3 GCC Shared All Lng Subs VL MVL Per User

Microsoft - Part#: 7MS-00001

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

23 M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr

110

1

6

\$353.40

\$274.80

\$38,874.00

\$1,648.80

Microsoft - Part#: AAD-34704

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

24 PwrBIPremP1GCC ShrdSvr ALNG SubsVL MVL

\$45,676.51

\$45,676.51

Microsoft - Part#: HKL-00002

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

25 AzureMonetaryCommit ShrdSvr ALNG SubsVL MVL Commit

\$1,227.00

Microsoft - Part#: 6QK-00001

Contract Name: NASPO Cloud Solutions

Contract #: AR2488

Subcontract #: 43230000-NASPO-16-ACS Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

26 Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV -

EA Subscription, Government Community Cloud - All Languages

Microsoft - Part#: P3U-00001

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

27 Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV -

EA Subscription, Government Community Cloud - All Languages

Microsoft - Part#: P3U-00001

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

28 Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV -

EA Subscription, Government Community Cloud - All Languages

Microsoft - Part#: P3U-00001

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 - Nov-30-2022

Note: Annual Payment 3 of 3

\$4,908.00

\$137.88

\$137.88

\$137.88

\$137.88

\$137.88

1

\$137.88

29	PowerAutomateplanGCC ShrdSvr ALNG SubsVL MVL PerUsr Microsoft - Part#: SFR-00001 Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and	6	\$161.37	\$968.22
	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
	Note: Alliuai Fayillelit 3 01 3		3	
30	Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV - EA Subscription, Government Community Cloud - All Languages Microsoft - Part#: P3U-00001	1	\$137.88	\$137.88
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
31	Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV - EA Subscription, Government Community Cloud - All Languages	1	\$137.88	\$137.88
	Microsoft - Part#: P3U-00001 Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022 Note: Annual Payment 3 of 3			
32	M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr	20	\$353.40	\$7,068.00
	Microsoft - Part#: AAD-34704			
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
	Services Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
	Note: Amuair aymento or o		*****	
33	Microsoft Visio Pro for Office 365 - Subscription license - 1 user - hosted - GOV - EA Subscription, Government Community Cloud - All Languages	1	\$137.88	\$137.88
	Microsoft - Part#: P3U-00001			
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
	Services			
	Contract #: 43230000-15-02 Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: Annual Payment 3 of 3			
34	M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr Microsoft - Part#: AAD-34704	20	\$353.40	\$7,068.00
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			
	Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 - Nov-30-2022			
	Note: Annual Payment 3 of 3			
	D. A. D. 00001 10 ALMOO L. M. AMA D. H. 4044 M. AV. 0.403	_	A 100 00	40.454.00
35	PowerAppsPlanGCC ShrdSvr ALNG SubsVL MVL PerUsr- 12 Months (Year 3 of 3) Microsoft - Part#: SEL-00001	5	\$430.32	\$2,151.60
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and Services			
	Contract #: 43230000-15-02			
	Coverage Term: Dec-01-2021 – Nov-30-2022			
	Note: EA# 70130998 - Pending order for year 2			
36	M365 E3 GCC Unified ShrdSvr ALNG SubsVL MVL PerUsr	200	\$353.40	\$70,680.00
	Microsoft - Part#: AAD-34704			
	Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and			

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 – Nov-30-2022 **Note:** True Up to be placed at anniversary

37 PowerAutomateplanGCC ShrdSvr ALNG SubsVL MVL PerUsr

2

\$161.37

\$322.74

Microsoft - Part#: SFR-00001

Contract Name: Licensing Solutions Providers (LSP) of Microsoft Software and

Services

Contract #: 43230000-15-02

Coverage Term: Dec-01-2021 – Nov-30-2022 Note: True Up to be placed at anniversary

Total

\$580,226.42

Additional Comments

Hardware items on this quote may be updated to reflect changes due to industry wide constraints and fluctuations.

The products offered under this proposal are resold in accordance with the terms and conditions of the Contract referenced under that applicable line item.